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ecl-act(ds;da;m;z)
=qet eclind(z;k,test. AL.False;a,b,aa,ab. AL.aa(L)
V (3L4, Ly:event-info(ds;da) List.
L = (L; @ Ly) & ecl-halt(ds;da;a)(0,L1) & ab(Ls));a,b,aa,ab.AL.aa(L)
& (VL':event-info(ds;da) List, n:NT. L' < L = ecl-halt(ds;da;b)(n,L') = L' = L)
V ab(L)
& (VL :event-info(ds;da) List, n:N*.
L' < L = ecl-halt(ds;da;a)(n,L') = L' = L);a,b,aa,ab.\L.aa(L)
& (VL':event-info(ds;da) List, n:N. I' < L = ecl-halt(ds;da;b)(n,L') = L' = L)
V ab(L)
& (VL':event-info(ds;da) List, n:N.
L' <L
= ecl-halt(ds;da;a)(n,L’)
=L

L);a,aa.star-append (event-info(ds;da);ecl-halt(ds;da;a)
(0);aa);a,n,aa.if m=gn—
ecl-halt(ds;da;a)(0)
else aa fi;a,n,aa.00;a,l,0a.0a)

clarification:

ecl-act(ds;da;m;z)
=4et eclind(z;k,test. AL.False;a,b,aa,ab. AL.aa(L)
V (3Lq:event-info(ds;da) List, Ly:event-info(ds;da) List.
L = (L, @ Ly) € event-info(ds;da) List
& ecl-halt(ds;da;a)(0,L1)
& ab(Ls))sa,b,aa,ab. AL.aa(L)
& (VL :event-info(ds;da) List, n:NT.
L' < L € event-info(ds;da) List
= ecl-halt(ds;da;b)(n,L’)
= L' = L € event-info(ds;da) List)
V ab(L)
& (VL':event-info(ds;da) List, n:N*.
L' < L € event-info(ds;da) List
= ecl-halt(ds;da;a)(n,L’)
= L' = L € event-info(ds;da) List);a,b,aa,ab.A\L.aa(L)
& (VL :event-info(ds;da) List, n:N.
L' < L € event-info(ds;da) List
= ecl-halt(ds;da;b)(n,L)
= L' = L € event-info(ds;da) List)
V ab(L)



& (VL :event-info(ds;da) List, n:N.
L' < L € event-info(ds;da) List
= ecl-halt(ds;da;a)(n,L")
= L' = L € event-info(ds;da) List);a,aa.star-append(event-info(ds;da);ecl-halt(ds;da;a)
(0);aa);a,n,aa.if m=on—
ecl-halt(ds;da;a)
(0)

else aa fi;a,n,aa.aa;a,l
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